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GENERAL INSTRUCTION TO
gLt .ﬁ.
[

(1) qﬁaﬁﬁaﬁmmﬁmm

Candidate must write first his / her Roll No. on the question paper compulsorily.

(2) wft s e

All the questions are compulsory.
3) e T T I E TS Fe-gfent |/ ford |

Write the answer to each question in the given answer-book only.
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(4) o et o St @ €, 39 Wt 3 3w e o o |

For questions having more than one part, thé answers to those parts are to be written
together in continuity.

(5) -w%%ﬁaaﬁsﬁwﬁwmﬁg&/m/ﬁﬂmgﬁm%ﬁw%m

H AT | >

If there is any error / difference / contradiction in Hindj & English version of th )
Of the question

paper, the question of Hindi version should be treated valid
(6) 9% 1 I fore & q& W 1 shATeh STave v |

Write down the serial number of the question before attempting it

(7) S T 3% R FEER R |

Weightage of marks for the question is as foll%ws
*_.L

TU-37 (A) | 1(itox), 2011 h 20 ___T*“*———Z—O——_J
wUE- (B) 126015 N S
gus-¥ (C) 16 to 19 4 _-—-_Tﬁ"““‘*-l—z-—-——ﬁ
@re-¢ (D) 20 to 21 2 4 =—~_8_.__
@ve-A (E) 22 to 23 2 4 ———-8—-_.__

T =]
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SECTION - A

L. nﬂ%ﬁanﬁag%mm%w mgﬁtﬁ[ﬁﬁﬂ@l (1 x 10 =10)

‘ Write the answer of the following given multiple choice questions in the answer book.

(i) Frerfefiga o & taw S FR R :

(=) & | (@) T

(@) ® () T A S

Which of the following data structure is linear data structure ? 1
(A) Tree (B) Graphs

(C) Arrays (D) None of these

(i) @Eﬁ?ﬁaﬁ?ﬁ%ﬁm%ﬂﬁawmmw% ?

,{ (#) \ @

I 9
@ |l @ ! aE
Symbol used to comment a single line is (S 1

{ (A) \\ B) /

| © | @) !

| (iii) Wmﬁmméﬁe%mmﬁmm%?
(37) ifRe= (@) if-else REHT
(&) switch RZH (7) I &
Selection structure is implemented by which control statement ? 1
(A) if statement (B) if-else statement
(C) switch statement (D) All of the above
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(iv) TH A oA H Euon HH & 8 ?

(37) int fun (int a, int b) () int fun (int, int);
(@) (30 (@) A (%) o & T
Which is valid function declaration ?

(A) int fun (int a, int b) (B) int fun (int, int);
(C) Both(A)and (B) (D) None of these

(V) T I SIS 215 S Set S e i ook Hy it v 2, :‘@Wﬁlﬁ‘[%

(37) 3feaae - (7)) ==
(@) W (®) drs=x
User-defined type that binds data and function together is called
(A) Object '(B) Class m
(C) Array (D) Pomter b
(vi) Wﬁ*m@?@ﬁﬁwﬁm"% 7
(51) fowins Fm (=) Tt s w5

() atltﬁtﬂmm - (®) v AwE T
Constructor that take ai:'giifments are called
(A) default constructor (B) no arguments constructor

(C) parameterized constructor (D) None of these

(vii) T I T oo bl 3eft Forr 3 gE mﬁiﬁﬁﬁgﬁ-{sﬁwm%@

& ST &
(31). fewice Tegeaen (|) ohidt HgEy
(@) HHIeUsSE Hgae (8) T & &g 7

A constructor that is used to declare and initialize object fro

) m ; '
same class is known as another object of the

(A) * default constructor (B) copy constructor

(C) parameterized constructor (D) None of these
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(ﬁii)ﬁ@mama%mm%ﬁmﬁsﬂﬁﬁzwﬁ%ﬁwmm%

(31) fome sefied (F) Wedeiad |
(@) T e (2) R TR
- When a class inherit the features of two or more classes is called 1
(A) single inheritance (B) multilevel inheritance
(C) multiple inheritance (D) hierarchical inheritance

(ix) TR 1 7 T 1 1 el A8 ?

(a1) fetges wom (9) =Ees A
(@) w& wTH (3) IRERH @?ﬂ
. g ?’ - 1
In inheritance the new clas&s}%ﬁéﬂ _
(A) Derived class (B) Child class
(C) Sub class (D) All of the above

(X) mﬁﬁa=(b=20)+5ﬁéﬁaa‘a’mmw@1ﬂ?

(31) 20 (@) 25
(®) 5 (x) 30
In the expression 2 = (b= 20) + 5 ; the value of variable ‘a’ willbe - 1
(A) 20 B) 25
(C) 5 (D) 30
§S-03-Info.Tech. (Opt.) [ Turn over
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SI% AT 2 H 8 T WEHI o I Uk et & iy -

Q. No. 2 to 8, answer the following questions in one line -

4, SEHATTR I

&

2. ifireh ST Tt ht gwEal |

Explain the compound data structure.

3., TEEUYH TR E |

What are Expressions ?

&

What is domain/2,

LS
oo
X

5. SQL@‘éLLm%l

What is NULL in SQL ?

6. e ReEfEE w5 afonRe w5 |

Define operator precedence.

7. SESREEHEIEN R 7

What are Identifiers ?

s5-0

LN
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g TmiEfREdE |
What is Inheritance ? | ' 1
9, T g e % AR A
By default, the members of a class are " 1

10. W%@ww%mﬁm@zﬁeﬁmaﬂtm-mmm@

_ hEl Sl 21 %
) Same function name but different argument %cm.@b&%ls o°perform different tasks, is

% P TA §

knownas . @ ? |

11. e _ﬂ%ﬁ%:gﬁ@a'g AT ﬁt@____?ﬁfﬂgﬁ?ﬁ% '
In single inheritance, there is one base class andone _____ class. | .
@ug — ¥
SECTION - B
g % g !
‘ ) |
What is Data Structure *

: [ Turn over
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13. T 1 Bl 2 3 fre v Bt 2

What is Search and how many types ?

14. @%ﬁa%ﬁﬁﬁ%?a@mﬁmeﬁ@?ﬁ%?

What is inheritance and how many types of inheritance ?

e ST

D @

15. ‘#ﬁ?KeyW% ?Wm%%aﬁ@ﬁq Keym"ﬂ?f% ?

>
e

What is foreign key ? How we create ?l:foreign key in a table ?

-5 o
|‘ *® v.‘
pr 0

y ‘ﬂ‘ >

@Ug -9

SECTION - C

16. sofiag (Hierarchical) =l Hiee ! AT |
Explain the hierarchical data model].

AYET/OR

e TR S WOt % R Serdvy feemen ) |

Design 2 database for schoo] management system.
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18.

19.

20.

SQL 1 8 foram & wwe |

What is SQL ? Define in detail.
319ET/OR

SQL 3 wReret SHTex FeTatul afed Twsnat |

Explain the SQL logical operators with example.

39 &S (Sub queries) ¥ T FT 7AW & ? 39 ST 4 3990 Bt £ 7
What do you mean by sub queries ? Why sub queries are useful ?
FYET/OR
SQL  witite Havr fha TR F B & ? P‘
P
How many types of aggregate func;\ions,

f.-.?l a‘vgo%)
E-Raﬁ@%g@m—m,mwmaﬁtm%@‘r |

Write down the main component of E-R diagram—symbol, symbol name and aims.

¥ar/OR
e o et & = for |

Write down thé steps of data base design.

TE -

SECTION -D

A e oy e ST e |
Write a program of linear search.

atyer/OR
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22.

65

10

R i e for |

Write down the basic operations on Array.

ATz o, S T & o S E ?

Why binary search is better than linear search ?

B

e st o1 st et (2

Write a program of Fib@hﬁCci’ series.
A

n
AN
2 S0
T S

g -

SECTION —E

Fﬁﬁmﬁ T Insertion %Q@ﬁﬁ%ﬂfﬁ@ |

Write down the algorithm of Insertion in linear array.

19T/ OR
uep feredt WUt o fert |
Wwrite a one dimensional array program.
HAYST/OR
el @ B ST fer |

Wwrite a program of Binary search.
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23. E-R 3@ & fafre weR ¥ attributes 31 relationships 31 SATEAT i FHEY 3R 37 forg
miftesre s Wt € |
Explain various types of attributes and relationships in E-R diagram and also give
graphical representation for them.

/ 31yaT/OR

3NF 31t BCNF ﬁﬁwnﬁmaﬁ ! E! ?1
| Explain in detaw %&dgiCNFﬁ?

AYEr/OR
DBMS T GrffepTor 64 |

Write the classification of DBMS.
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